Significant figure Practice WS


Answers are provided on the back.  Be sure to WRITE DOWN YOUR ANSWERS before you look at the correct answers provided.
Underline the significant digits in each of the following measurements

a. 10.0m            
b. 0.010m            
c. 77.01m                
d. 1.0x103
e. 6.100m         
f. 0.001m

g. 1.110m


h. 1.01m

Solve the following.  Consider significant figure rules!!!
1)   (2.46g)/(1.23mL)=

2)   (246g)/(1.23L)=

3)   (393g)/(2L)=

4)   (18.00mL)(1.50g)  =
                            mL
5)     0.170m - 2.2m=

6)    (3.4617 x 107) ÷ (5.61 x 10¯4)=
7)    (1.034cm + 6.6cm) (4.01cm)=

8)    (5.79cm x 5.5cm) - 6.02cm2=

9)   The following are placed in a beaker weighing 39.457 g:   2.689 g of NaCl, 1.26 g of sand and 5.0 g water.    What is the final mass of the beaker?

10) If the beaker containing a sample of alcohol weighs 49.8767 g and 
the empty beaker weighs 49.214 g, what is the weight of the alcohol?
11)  Density is calculated using the equation D=m/v .  m is mass and v is volume.   

      What is the density of an object that has a mass of 2.01 g and a volume of 10. mL?
Answers

Underline the significant digits in each of the following measurements

a. 10.0 m            
b. 0.010m            
c. 77.01 m                
d. 1.0 x 103
e. 6.100 m         
f. 0.001m

g. 1.110 m


h. 1.01 m

1)   (2.46g)/(1.23mL)= 2.00 g/ mL
2)   (246g)/(1.23L)= 200. g/L
3)   (393g)/(2L)=  200 g/L
4)   (18.00mL)(1.50g/mL)=  27.0 g
5)     0.170m - 2.2m=  - 2.0 m
6)    The calculator shows 6.1706 x 1010 which then rounds to 6.17 x 1010 - three significant figures.
Order of operations!!
7)    (1.034cm + 6.6cm) (4.01cm)=  31 cm2
8)    (5.79cm x 5.5cm) - 6.02cm2=  25.8 cm2
9)   The following are placed in a beaker weighing 39.457 g:   2.689 g of NaCl, 1.26 g of sand and 5.0 g water.    What is the final mass of the beaker?    =48.4 g
10) If the beaker containing a sample of alcohol weighs 49.8767 g and 
the empty beaker weighs 49.214 g, what is the weight of the alcohol?   =0.663 g
11)  Density is calculated using the equation D=M/V .  What is the density of an object that has a mess of 2.01 g and a volume of 10. mL?  = 2.01 g     =0.20 g/mL
                                                                                       10. mL

